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It is logical that we punish by whomever the prohibition is found

Overview

The &7n3 explained the reason why we fine the 1211 and say ampn? 0°n7 171, instead
of fining the n?% and order him to be 77215 %2R in 2217, is because we levy the
fine on the person in whose possession the T0°X is found. Our N»dOIN explains why
the MoK is 72m7 NMw12 and why it is considered a fine.

= NP NN MY TUPNT MIYND Y90V 9990 1397 VIS
The explanation of the s'X73 answer that 7°7 1°01p X7I0°K R2°RT X211 92 is, that we

mean the seller, for the @' ¥» money was in his possession (through an illegal sale) -
- NN 999 RYY 19951 DMIPNY DINT INNHY 1Y 103D 2599

So therefore the 1127 fined him that he should return the money to their initial
place (to the buyer) which means that he did not sell his cow.

mMooIn mentions a difficulty:
= DOWITP 991N TPaYW MYNN DYDY WIDT 1DN9AN 13 PNYY 19929 WY PHIT NN

And this explanation is wanting according to the view of the X''2%9, who explained

that the ¥"v» money which is in the seller’s possession always remain holy -
- ©YHYIY IMYYNY 7598 YUY HYVITPN

With the 7w17p of w'"v» and it is necessary to bring them up to 295w -
= D2PNRY OIT 19N JININT XNN 1Y NN MOT NA9TN )5 ON

So therefore on the contrary it is advantageous for 121 this which we rule rm

2AIPID BT, rather than 77310 Y8 -
= 2059W1952 1N MYYNYN INNNA Y MNIY 1Y 207

For it is better for the 101 that his cow be returned, rather than bringing its

money up to 25w -
= 3NN% 9ONN 290 YI9aY baN

' See appnn 7"7 8,1 '01n (TIE pg.3) where there is a dispute between the X"271 and the n"1 in the case of 17312 7oK,
whether when the P17 is 17310 928, does the w"vi my» in the possession of the 127 become 1°217 (the »"), or not (the
X"2M).

2 Granted that he loses the sale (if we say ompn? 017 17117), but the 1212 would rather lose the sale, but not be required
to bring the w"vn to 0°2w1 (for he can always find another customer), than gain the sale and be obligated to go to
2w, since according to the X"2™ we say that even by 17313 73x°, nevertheless the w"yn myn which the 72 has,
retain their 7w17p, and he must spend them in 2°%w1. See ‘Thinking it over’.

3 According to n"71 if we were to rule 77310 73X°, the w"yn my» which is by the 931 would be 99111, so the 191 would
keep the sale, and he would also not be required to go to 0°%w17> (which is all for his benefit), however now that we
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However according to the view of 2''77 it is understood.

n1voIN asks:
= PIIND 2IYW VPN MYN NINHND 119519 DAN 23X W7 Dryh DYONPN VIV AWP NT N

However, there is this difficulty according to s'>''w view, where he explained
previously regarding the statement of 7777° ', ‘however, if he intended to be X3x1%

the money of w'"w» for 3927 the rule is ampn® om7 11, so >"w explained that the buyer

intended —
= 0MPNY 097190 IRP AYY SAVITH NNNANI PINT INKS MYNNT

That the money should become "9 and the 717772 should become holy as w"vn,

and regarding this case 777 ' ruled 22pn® 297 1 -
- 5051922 11239 HANT 99919 NYY NPDIPNRY 1Y 1N 1N NI2D 29Y 15 ON)

So therefore according to this logic (of 72 129017 TI0°R XIKT X211 93), we should

have fined the buyer and rule that 2552193 17315 HoK° -
= D1INAINNTHITA NN NOINN NIV

For the 7108 of w"yn is in the buyer’s possession, namely the 7372772 (which has nwyTp
w"yn), this is a difficulty according to *"w-» -
= 799197 122 NIN DINN INVYW XN [B0N9AN )2 PNYY 19%29] 7wi9r9) Yan

However according to the view of the [(X''2)>''1], it is understood, for the MoK
in the seller’s possession.

nvoIN asks:
- A% NI D3P ONM 1199 YANN NPTV 1IDIPT NINY YINPT 109595 9NN ON)

And if you will say, previously where the 8723 rules that we fine the np%, and

he eats 37312 in oW1, what 23p is this -
- 1195591955 MYND MYYIY NPIYA 7598 DMIPNRY 0337 19N VAN 3 %9

say that ompn 0°n7 171, the 151 (at least) loses the sale so it is a 01p for the 2.

4 9mR 7" 8,0, See AR 7"7 &1 'O (TIE footnote # 16).

> However, the buyer intended to eat this 7mm2 (which received w"vn nunTp) outside D22wI.

¢ This is seemingly Xp17 %%, for we should make him take the a2 itself to 29w, since it has w"yn nw1Tp.

7 See 'o1n there (TIE footnote # 23).

8 The 2"wnmn amends this to read (Pn¥> 1°27) "1 (instead of X"27). See 2ax 7"7 X1 MO0 where it reads >".

9 The >"1 explains in that '0n (footnote # 7) that the buyer stipulated that (even though he is buying the 7nm2 with nwn
w"yn, nevertheless) the money should remain w"v» and not be transferred on the f%72. So the w"vn myn is 72m7 2.
10°% 1. The mwn cited there states that if someone bought a 131 XnY 7172 with w"yn Mmyn the rule is (if 1917 1132) that
5w 17230 9aX°. [however, if 12w 112 K9, then ampn? oonT 1me].

' mpon question should/may be understood as follows. The rule of the 71wn is that 7917 11aWw> we say 17313 798
(seemingly punishing the ), when 121 112 X2, we punish the 157 and ompn? °n7 171, The X3 asks (on 2,11)
even if 7217 172 X2 why do we punish the 25w (by saying 2mpn? 277 17117°) let us punish the np? (by saying 92K°
77210). The question of Mo0In is why does the X713 assume that 7731 92X is a greater punishment for the P12, than
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For even if we rule amypny a7 1911, the npW» is required to bring up the v"vn
money to 2°727°.

N1D0IN answers:
- 3W JUYN MPN 991 HNPNAN NPY NPNDNT A 1 VIPHT Y Y

And one can say that the additional ®1p (by ruling 77212 75X°) is from the following;

for presumably he bought the 72772 with the w''y» nyn at an expensive price -
= 1205991950 MBYIN MY Y09%Y

In order to exempt himself from going up to %2 -
$APYY NN NNYPYA HYT 709119 1572 DY 15D NPNDY BOIYINA 1139 YINIY 1Y 9INIY)

And when we will tell him that he should eat the corresponding value of the
original w"vn in 2%w™,! and the sale will be his (the 21 XY 7272 belongs to
him), he will have a great loss with this purchase of the cow which he bought.'

Summary
1. ompn? o7 1 is a 01p for the 70 if we assume that by 7730 170X the money

is 721 (the n"), but not if we assume the money remains w"vn (the 8"2°7). 2. If we
assume that by 12177 myn X172 11901 the money by the 101 is w"vn it is understood
why 15117 11°01p, since the MoK is 17°2 (the °"), but not if we assume that the nn72
the 712 bought has w"vn nw1Tp. 3. The n712 loses more by 77310 928> (since he
overpaid for the cow), than ompn 277 17T,

Thinking it over

mooIn has a difficulty with the X"27, why is it a greater 01p for the 721 if we say
ampnt 27 1 (where he is not required to go to 2°%w17), than 77315 Ho8° (where
he is required to go to 22w17).!> However previously '01n stated (7°03p21 7"72) that
if we say 77210 92%°, the np1% will be required to be 97 the w"vin myn by the 101, so
(even) by 77312 72K the 721 need not go to a*Hw 1?2116

ompn? 017 11, since in either case the npY? must go to 2°%w17. [In fact 77313 928° may be more beneficial to the 12,
for he gets to keep the 21 nknv 772 that he bought.] However msoin question cannot be on the miwn, why is it 258
17310 let it be a7 17, because the 71wn is in a case where 12%47 1112, so it is impossible to say 2°n7 1.

12 The np> was so anxious to rid himself from the w"v» myn (for he did not want to go to 0°>w17), that he was willing
to pay a higher price than usual for this 121 7xnw 772 (he did not haggle over the price). He bought a fn72 which is
usually worth ninety 17 for a hundred 17 of w"vn, for he felt it was worth it not to go D>

13 In our example (footnote # 12) a hundred 1.

14 He will be losing the ten 17, and still need to go to 2°7w17. However if we would say ompn on7 11, so granted
he would need to go to 2°2w17, but he will not suffer the loss of the ten 11, since the sale is voided.

15 See footnote # 2.

16 See X"wamm 2"wamn.
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